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SECTION-\A 10 Marks'_ i
Answer ALL questlons -

S

. o ALL questrons carry EQUAL marks g (10xl= 10) ‘f .
: """-"':Pyrrdme has adelocalrzedn molecular orbltals contarnmg e T

'g(1)4 electrons f'_; ,_i’_ Sl " (ii) 6 electrons
- ‘.,‘.’»(111) 8 electrons ERRTTRI S (1v) 12 electrons

,. "Whlch of the followrng reagent when treated wrth alkene glves a dlol‘7
i) (CHCOO)Py . (@) Allthetwee o o

- Y Whlch among the followrng is a neutral amtno ac1d‘7 o o
() Glyeine = . b - (ii) Lysine - =
. :b*_l'(m) Hrstldme _ {»‘-‘_-: "_ L (1v) Aspartlc acrd

, '”?.Whlch base is present 1n RNA but not in DNA’?
o (D Cytosine., i ~ (i) ¢ Guamne
*71_-...?-7(111) Thyrmne L i (1V) Uracﬂ

vThe conversion- of RCON3 to RNHZ is known as - oo
. (1) Hofmann rearrangement . -~ " (11) Beckmann rearrangement

f(m) Curtrus rearrangement S (rv) Lossen rearrangement

e Whlch of the followmg reagcnts is used in Oppcnauer ox1dat10n‘7 R
(i) Se0y . L (i) HIOs L L
"'_'(111) Ozone AT o (1V) Alummrum 1sopropox1de
* “Inan SN réaction thereds: . | - AR
(i) Partial racemisation - . (n) Complete racemrsatton ‘?_;;1: ERRGa
(i) Complete inversion. . - (1v) None of these ' o

In E2 reactron the d1hedra1 angle in synperlplanar conformatlon is' RS
o "'-."';(1) Oo NS (11) 90° o - (i) 120° - (IV) 1800

I, },; T he order of stabllrty of the dlfferent conformat1ons of cyclohexane 1s : SRR
(i) Chair form > Twist boat form > Boat form SRS
- (i) TW1st boat form > Boat form > Chair form -

(iii) Chair form > ‘Boat form > Twist boat form BN
T (1v) Boat form > Chalr form >. Twrst boat form-

'The six conformers of butane are: f S

s 7_1_..-(1) Four staggered: and two echpsed | (11) Two staggered and four ecl1psedn :
. (n) All srx staggered SRR " (iv). Three staggered and three echpsed

" ‘.B__';l._;‘""p';Explaln the uses of SeOz and NBS in orgamc synthesrs B

i ‘S'ECTI'ON -B(5 'Mar'ks.
; - Answer ALL questlons S TR
ALL questlons carry EQUAL Marks (5 x 5 25)

a ‘.-How is mdole synthesrzed') Grve its synthetlc apphcatlon




‘lee synthetlc apphcatlons of NaBH4

7 Explaln the mechamsm of El reactlon

iii) . Isoquinoline ~——t=—




